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Aptiderivative

A convexity and a concavity

The second derivative of the tangent line is equal to zero.
Then the function with positive second derivative grows faster
with respect to the tangent line. Then the tangent line lower
than the curve at right side of the touch point and vice wise
the negative second derivative means the function grows
slowly with respect to tangent line and curve lower that the
tangent line in the right side with respect to the touch point.




Aptiderivative

A convex curve
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Let's consider a curve f(x) on a segment x € [a, b].

Theorem about a convex curve

If the segment of the curve lies lower than any secant line then
the curve is convex on this interval. If this curve has a second
derivative, then the second derivative is positive.




Prof of the theorem about a convex curve

y(x) — f(x) = (F(&) = F(&))0e = x)(x =x1) _

X — X1
F'(n) (&2 — &) (e — x)(x — x1)
X — X1 ’
x1 <& <x<&H<x, S <<

Then

y(x) = f(x) > 0= f"(n) > 0.




Aptiderivative

A concave function
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Theorem about a concave curve
If the segment of the curve lies upper than any secant line then
the curve is concave function on this interval. If this curve has
a second derivative, then the second derivative is negative.
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A concave function
Proof

is follows from the equality:

)/(X) . f(X) _ f"(77)(52 - 51)()(2 - X)(X — Xl)’

Xo — X1
x1 <& <x<&H <X, §<n<b.

Then
y(x) — f(x) < 0= f"(n) <O0.
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A point of inflection
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3
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If "(x0) =0 and f"(x)f"(x2) < 0, in small neighborhood of
Xp, X1 < Xg < X» then Xxp is an inflection point.

Theorem about the inflection point

If f"(x0) =0 and "”"(xp) # 0 then xp is an inflection point.

Proof
f"(x) — f"(x0) ~ " (x0)(x — x0)-
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Asymptotes
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Definition
Let (x) be defined Vx > a. If Jk,/ € R:

f(x) —kx —1=0(1), x— o0,

then the straight line kx + [ is called asymptote
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An

Construction of the asymptote

If asymptote
4 exists then the parameters
of the asymptote are
f(x)

k= lim —=2,
X—>00 X

[N)

-

1 S I = lim f(x)— kx.

X—>00

lim f(x) = oo,

X—r X0

then the x = Xxp is called a vertical asymptote.
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Aptideriva

A table of derivatives of elementary functions

— cos(x)

9 arcsinx)
— arcsin(x
dx

— arctan(x
m ()

Ix




A definition of an antiderivative

Definition.

Let a function f(x) be defined at some interval E. The
function F(x) such that

d
&F(X) = f(x), Vxe€E.
is called the antiderivative of the function f(x) on E.

If F(x) is antiderivative of f(x), then F(x) + C is
antiderivative of f(x) also. Proof.

d

&(F(x) + C) = f(x).
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Applications in physics

Suppose we know the velocity of the straightforward
movement v(t). Define the instant value of a coordinate as
x(t).

Then

X = V.

Hence the x(t) is an antiderivative of the velocity v(t). If we
know the acceleration a(t) then the velocity v(t) is an
antiderivative of a(t)
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An indefinite integral

Let's rewrite the formula for an antiderivative in differentials:

dF(x) = f(x)dx.

Definition

/f(x)dxz F(x)+C, VCeR

the left-hand side of the formula is called indefinite integral.




Definition of an indefinite integral

/f(x)dx: F(x)+C, VCeR

[ is an integral sign.
f(x) is called an integrand.
dx is a differential of the variable of integration.

F(x) is an antiderivative of the integrand.

vvyyVvyyvyy

C is an arbitrary constant.




Properties of the indefinite integrals
» Let F/(x) = f(x) then
[f(x)dx = [dF(x)=F(x)+C, CeR.
> d ([ f(x)dx) = F(x).
» If F'(x) = f(x) and G'(x) = g(x) on x € E, then

[(ratnax = [ Fixgact [ sts = Fx)+6(x4c

> If F/(x) = f(x) then

/)\f(x)dx—)\/f(x)dx—/\F(X)+C,V)\ER.




A table of antiderivatives for elementary functions

/ x" " Ldx
/<
dx

P X

/ cos(x)dx
/ sin(x)dx
T dx
/ cos2(x)

| A=

/ dx
J 14 x2

log(|x]) + C,
sin(x) + C,
— cos(x) + C,
tan(x) + C,
arcsin(x) + C,

arctan(x) + C.




Applications in physics

Consider a free falling load with the vertical acceleration
a = —g = const then the velocity as the indefinite integral:

v(t)=—gt+ C
If we know the initial velocity v(0) = vp, then

v(0) = C = v,
v(t) = v — gt.
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Applications in physics

The instant coordinate can be considered as an indefinite
integral of the velocity:

t2
X(t) = Vot—ga‘f—c.

If we know the initial position xp, then

x(0) = C = x.

Finally one gets the law for a free falling load:
t2

x(t) = xo + vot — g5
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Substitutions

Let's consider the chain rule for the derivative:

EF(6(x) = F(6()6'(x),

then in the differential form:
d(F(G(x))) = F'(G(x))G'(x)dx = F'(G(x))d(G(x)).

Let's define y = G(x), then:

It yields:

/F’(G(x))G’(x)dx— /F/(G(x))dG(X) —/F’(y)d%




Substitutions

/F’(G(x))G’(x)dx— /F’(G(x))dG(X) —/F’(y)dy,

then:

/dF(y) = F(y)+ C=F(G(x)) + C.




Examples
d(Ax)
)\xd _/ Ax _
/e x e
1 e
S ey = e _c
)\/e dy )\e +C 3 +C
d(x? 1
/cos(x2)xdx —/cos(xz) (;( ) = 2/cos(y)dy =
1. 1. 5
Esm(y) +C= §sm(x )+ C
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Theorem about integration by substitution

Theorem about integration by substitution

Let F(x) and G(x) are differentiable functions and range of
G(x) in domain of the F(x). Then

/F’(G(X))G/(X)dx = F(G(x)) + C.

Proof. Differentiate this formula straightforward!
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Applications in population dynamics

Let's assume that a population of fishes in a pond increases
proportional to the numbers of the fishes and initial quantity
of the fish was ny This means:

d
En = kn,

or in differential form:

dn = kndt.
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Applications in population dynamics

d
M kdt.

n
Then the antiderivative for both parts give as the dependency

log|n| =kt +c, c=log|C|eR.

Then
n(t) = Ce**

and due to initial value of ny ones gets:

)

n(t) = npe*.
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An integration by parts

Let's consider:

d _ du(x) dv(x)
 wv) = 2200 + w0 2.

These formula in the differential form can be represented as:
d(uv) = d(u(x))v(x) + u(x)d(v(x)).
or the same:
u(x)dv(x) = d(uv) — d(u(x))v(x).

This yields




An integration by parts

Theorem about integration by parts

If the function u(x) and v(x) are differentiable on some
interval E, then on the interval the following formula is valid:

Proof. Differentiate the formulal
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An example

/ex sin(x)dx = €*sin(x) — / e* cos(x)dx =
e*sin(x) — e* cos(x) — / e*sin(x)dx.
e*sin(x) — e* cos(x)

e*sin(x)dx = 5 + C.

2/eX sin(x)dx = e*sin(x) — €* cos(x) + C,
/
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Aptiderivative
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